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Jun: ATLLUU:

(9x— 6)(9x +2) (6x— 5)(x— 6)
(7 + x)(8x + 6) (2x — 8)(9x* — 7x— 7)
(4x — 7)(8x — 2) (o + dx + 4)(x— 2)
(x— D —Tx—7) (8% + dx + 4)(Tx + 9)
2% — x— 1)(3x - 3) (7x — 3)(4x — 2)
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fia: Suii: ATUUY:

(O9x— 6)(9x+2) (6x—5)(x—6)
81x% — 36x— 12 6x> — 41x+ 30
(7 + x)(8 + 6) (2x — 8)(9x% — Tx—7)
8x” + 62x + 42 18x° — 86x° + 42x + 56
(4x — 7)(8x — 2) (O + 4x + 4)(x — 2)
32x% — 64x + 14 X+ 2% —4x—8

(x— 4 —Tx—7) (8x% + 4x + 4)(Tx + 9)
¥ = 1122 + 21x + 28 56x> + 100x% + 64x + 36
(22 — x— 1)(3x— 3) (7x — 3)(4x —2)

66 — 9% +3 28x” — 26x+ 6
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